3A.6 - Polynomials Test Review #2 Name: ]
Algebra 2 ( Date:
1. Answer each of the following questions for the graph (estimate the zeroes):
0
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2, Sketch the graph by hand given that the zeroes are -1, -2, and 2. Then, answer each of the
following questions for the graph. (Use a graphing calculator to help)

f(x)=x"+x*-4x -4

Domain: Z£ Range:

X = o0, f(x) = _~£0
-2

# of zeros;___—

# of extrema:

IS

3. Determine the end behavior and maximum number of extrema (u-turns):
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4. State the # of ZEROS and the range for the polynomials:

a)  f(x)=x*-4 5 b) h(x)=-—5x>+3
# of Zeros: ’ # of Zeros: -
Range: /"(’i) 00\) Range: P\
5. State the sign of the leading coefficient & whether the degree is Even or Odd
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6. The function f(x) =2x%2 - 3x-10 has a y-intercept at which of the following points?

a.(0.-2) b.(0,10) @o,—lo) d.(0.2)

7. The function f(x) =3x - 4x3 + 2x2 +1 has how many zeros and what is the number of extrema?

3
@Zeros: 3 Extrema: 2 c. Zeros: 1 Extrema: O

b. Zeros: 4 Extrema: 5 d. Zeros: 5 Extrema: 4

8. What is the range for the function f(x) =x -x3-3¢

\
Q. (~oo,-3] b.[-3, x) c.[0,-3] @(—oo, o)
State the Symmetry (Odd, Even, Neither)
9. f(x)=x"+2x"—4x 10. g(x) =3x"—2x? +1,.° 11, h(x)=x"-3x°

Me M‘\’J/ = whiad 0;/5/

True or False

12. The range of a quartic function is always (_OO’OO)

13. Odd Degree Polynomials have an Absolute Max or Absolute Min

14. A Quadratic function with a negative leading coefficient will have an Absolute Maximum
/{fVQ/ /\\

15. A Cubic Function will have 3 extrema 7‘:0’ !.SC P



Solve thg following polynomial inequalities (put final answer in interval notation):
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18. x° +4x° >12x
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20. Answer each of the following questions for the graph (estimate the zeroes):
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Domain: 7?\ Range: ‘m\
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54 o

(-.333,-9.48)

N O I O A

X >0, fiX) > _ 09
0

End Behavior:

X — —o, f(X) >

Min. degree !

Sign of leading Coeff.

Symmetry?

oner




